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Question 1 

When processing an internal table with the statement LOOP AT itab... ENDLOOP, what system 

variable contains the current row number? 

A. sy-subrc 

B. sy-linno 

C. sy-index 

D. sy-tabix 

Answer D 

Question 2 

Given the following Core Data Services View Entity Data Definition, Which of the following types are 

permitted to be used for <source> on line #4? Note: There are 2 correct answers to this question. 

A. An external view from the ABAP Dictionary 

B. A database view from the ABAP Dictionary 

C. A CDS DDIC-based view 

D. A database table from the ABAP Dictionary 

Answer C D 

Question 3 

What are some of the reasons that Core Data Services are preferable to the classical approach to 

data modeling? Note: There are 2 correct answers to this question. 

A. They compute results on the application server. 

B. They transfer computational resultsto the application server. 

C. They avoid data transfer completely. 

D. They implement code pushdown. 

Answer B D 

Question 4 

Which type of legacy code does SAP recommend you eliminate when you review modifications as 

part of an SAP S/4HANA system conversion? Note: There are 2 correct answers to this question. 

A. Code that can be redesigned as a key user extension 

B. Code thatsupports a critical business process 

C. Code that now isidentical to a standard SAP object 

D. Code that hasless than 10% usage according to usage statistics 

Answer A C 

 



 
Question 5 

Given the following code in an SAP S/4HANA Cloud private edition tenant: The 

classzcl_demo_classisin a software component with the language version set to "ABAP Cloud". The 

function module ZF1' is in the same software component. Both the class and function module are 

customer created. Regarding line #6, which of the following is a valid statement? 

A. 'ZF1' must be released for cloud development to be called. 

B. 'ZF1' can be called via a wrapper that itself has not been released for cloud development. 

C. 'ZF1' can be called whether it has been released or not for cloud development. 

D. 'ZF1' can be called via a wrapper that itself has been released for cloud development. 

Answer D 

 

 


